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PHILOSOPHY — HONOURS
Paper : SEC-3

(Logical Reasoning and Application)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

1. Answer any two from the following questions : 5x2

(a)
(b)

(c)
(d)

What is the primary objective of logical reasoning? Discuss in brief.

“The hill is fiery as the hill is smoky”— Mention the paksa, sadhya, hetu, sapaksa and vipaksa
in this inference.

What is the role of causation in legal reasoning? Discuss briefly.

Explain the difference between argument by good analogy and bad analogy with example.

2. Answer any two questions :

(a)
(b)
(c)
(d)

Explain different types of ordinary operative relations with example. 10
Explain any two fallacies falling under the fallacy of relevance with examples. 10
Discuss the role of probability in the context of legal reasoning. 10
What is Kevalanvayi inference? — Explain with the help of an example. Determine the distinction

between Kevalanvayi and Kevalavyatireki inference. 5+5

3. Answer any three questions :

(1638)

(a)
(b)

(c)
(d)

(e)

Discuss the different types of hetvabhasa. 15
What do you understand by the fallacy of ambiguity? Discuss the different types of fallacy of
ambiguity with examples. 5+10
What are the criteria for evaluating hypothesis? Discuss. 15

What is an explanation? If there is more than a single scientific explanation for one and the same
fact, then how are scientific explanations evaluated? Answer after Copi. 3+12

(i) Inspite of admitting the importance of deductive process in the appellate courts, why does Copi
think that the primary reasoning process in law is inductive? Explain.

(i) Why is the above inductive process burdened in a courtroom and what does the Judge do then
as a solution? Discuss in this context, the importance of ‘hearsay testimony’. 5+(5+5)



